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Attempt All questions.
Figures to the right indicate full marks.

Use of simple non-programmable calculator is allowed.
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1. The following are the annual accounts of ‘Shri Asht Vinayak Company Ltd.” : 10

Trading and Profit & Loss Account
(for the year ending on 31st March, 2017)

4 3

Opening Stock 1,80,000 Sales (Cash) 84,000
Purchases 5,00,000 Sales (Credit) 7,56,000
Wages 60,000 Closing Stock 1,68,000
Direct expenses 88,800
Gross Profit c/d 1,79,200

10,08,000 10,08,000

~ PTO.
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Indirect Expenses

Net Profit

Share Capital
Reserves

Creditors

Calculate :

( 2
3
1,37,200

42,000

1,79,200

Gross Profit
and b/d

Balance Sheet
(as at 31st March, 2017)

%
2,10,000
70,000
1,40,000

4,20,000

@) Current Ratio;

@i1)
(ii0)
@)

Liquid Ratio;
Debtors Turnover Ratio;

Inventory Turnover Ratio.

Net Fixed Assets
Stock

Debtors

Cash

Aefoaes o fa. = aifties @ @il 9 0 A’ ;

SR fUT A IfUT dreT @rd

(31 HT=t, 2017 TS GUUTAT FUIETS)

AR Ry

Tgel @
Hehad TR c/d

N
1,80,000
5,00,000

60,000
88,800
1,79,200

10,08,000
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A ThY
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1,79,200
1,79,200

3
84,000
1,68,000
1,40,000
28,000
~4,20,000

N
84,000
7,56,000
1,68,000

10,08,000
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4 4
I T 1,37,200 H&hd TH b/d 1,79,200
IS TH 42,000
1,79,200 1,79,200
feerdt feraor
(31 wr=, 2017 Tsi=)
4 4
qM iEad 2,10,000 IS TR wufq 84,000
et 70,000 THY 1,68,000
3| 1,40,000  3TEHO 1,40,000
Re) 28,000
4,20,000 4,20,000
Tl ST el
@) ENEEREINK
@) L 3T,

(i)  STHEU @G ST,

(iv) ~ ThY EC STIIE.

From the following Trading and Profit & Loss Account for the year
ended 2015 and 2016. You are required to prepare a common size income
statement. 10

Trading and Profit & Loss Account
(For the year ended 31st December)

Particulars 2015 2016
€9} ®)

Opening stock 1,20,000 1,10,000
Purchases 4,80,000 4,30,000
Gross Profit 3,10,000 3,00,000
9,10,000 8,40,000

P.T.O.

OEBO0614A9FF2E5C14D7862202C7EE3DB



WT

( 4 ) CN—59—2017

Operating Expenses 2,60,000 2,64,000
Net Profit 50,000 36,000
Particulars 2015 2016
®) ®)

Sales 8,00,000 7,50,000
Closing stock 1,10,000 90,000
9,10,000 8,40,000

Gross Profit b/d 3,10,000 3,00,000

31 fegaRr, 2015 3TfUr 2016 IW THI-ARI @A TIA FHY 3Ted. TS TRl
HHEF SRR A fIao qar wEar TR

YR ATUT ATHTATT @
(31 fedaT TSIt @UUTT=T IieR{idT)

feraor 2015 2016
®) ®)

TRTH =Y 1,20,000 1,10,000
TR 4,80,000 4,30,000
kel TH 3,10,000 3,00,000
fETes = 2,60,000 2,64,000
S TH 50,000 36,000
3,10,000 3,00,000
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feraor 2015 2016
®) ®)
IEEQ 8,00,000 7,50,000
sifaw Rrees A 1,10,000 90,000
Thd TH (Tell 30T ) 3,10,000 3,00,000
Or
(feram)

From the following Balance Sheet of ‘Harshita Company Ltd.” for the year

ended 31st Dec., 2015 and 2016. You are required to prepare comparative

Balance Sheet :
Balance Sheet
(As on 31st December)

Liabilities 2015 2016
) )

Equity share capital 40,000 40,000
10% pref. share capital 30,000 30,000
6% Debentures 10,000 15,000
Reserve 20,000 24,500
Bills payable 5,000 7,500
Provision for taxation 10,000 15,000
Creditors 15,000 20,000
1,30,000 1,52,000

P.T.O.
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Assets 2015 2016
® ®)

Cash 10,000 14,000
Debtors 20,000 30,000
Stock 20,000 30,000
Land 10,000 10,000
Building 30,000 27,000
Plant 30,000 27,000
Furniture 10,000 14,000
1,30,000 1,52,000

@ A fA. = 2015 @ 2016 = feordt foeror @eftar g0l SR, JEETN g

feerdifaenor TR SHUEEN TR

feera faawor
(31 T Tsh)

Een) 2015 2016
®) ®)

WH 96 9reda 40,000 40,000
10% 3TUsFh 9F Hiead 30,000 30,000
6% Hs AW 10,000 15,000
wfert 20,000 24,500
7 fam 5,000 7,500
h{TsqEel dids 10,000 15,000
R 15,000 20,000
1,30,000 1,52,000
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wo 2015 2016

®) ®)

e 10,000 14,000
RUThI 20,000 30,000
e A 20,000 30,000

A 10,000 10,000
ARG 30,000 217,000

RE| 30,000 217,000
TR 10,000 14,000
1,30,000 1,52,000

3. Saraswati Company Ltd. is considering the purchase of a new machine.

Two alternative machines (A and B) have been suggested each having an

initial cost of ¥ 1,00,000.

10

Year Cash Inflow Present Value
Machine ‘A’ Machine ‘B’ of Re. 1 (at 12%
) ®) discount)
1 40,000 50,000 0.893
2 35,000 40,000 0.797
3 25,000 30,000 0.712
4 20,000 30,000 0.635

The Company has a target of return on capital of 12%. On this basis

you are required to compare the net present value of the machines and

advice which machine should be purchased employing discounted cash flow

method.
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T YHSe fd. o Tk Afoq I3 @RS HEdE 3R, F At o= (‘21 emfur
‘F') gaEfauaE STell YA Y& Il g fhAd 3 1,00,000 3R

ER] g AUATE AU el
o ‘3’ o7 ‘q’ 319 (12%
®) ®) JTYERT)
1 40,000 50,000 0.893
2 35,000 40,000 0.797
3 25,000 30,000 0.712
4 20,000 30,000 0.635

THEEM WieaaeR 12% 91 T+ fhesfaa @a fifved &a oM. adiar wrfedren
SR AT G TAHH Jedr= ol 0 ST STIRId Il o TG 9 shed

FIA I3 BRGT HUS AT FALET Foen @
Or
(fenam)
You are given the following figures relating to Ajintha Ltd. Jalgaon for
the year 2016 :

Items Budgeted Actual

) ®)
Sales 1,20,000 1,40,000
Direct Materials 40,000 50,000
Direct Wages 20,000 16,000
Administrative Exp. 18,000 24,000
Finance Exp. 6,000 6,000
Selling Exp. 12,000 16,000
Tax 4,000 5,000
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Prepare responsibility accounting report for the profit centre showing there-

in variances from budget in absolute figures.

aAfSiar fd. 3 STUUME 2016 A1 IST=l Hifgdl @roiied g0 foedt 3T

ue BHELPCIp) el

®) ®)
forsht 1,20,000 1,40,000
Jag 40,000 50,000
A8 AL 20,000 16,000
ENICERRCL 18,000 24,000
IERIRICE| 6,000 6,000
Tt = 12,000 16,000
ET 4,000 5,000

TS

e Hifediae ATHehadl SWEIIE TeEehH 3Tgald TR hed @ndid aRgel d&

WEUdd foee e

Prepare an estimate of working capital requirement from the following

information of a ‘Sujata’ trading concern : 10
@) Annual Sales 2,00,000 units
(1) Selling price ¥ 16 per unit
(zii)  Percentage of net profit on sales 25%
(tv)  Average credit period allowed to customers 8 weeks
(v) Average credit period allowed by suppliers 4 weeks
(vi)  Average stock holding in terms of sales requirement 12 weeks

(vii)  Allow 10% for contigencies.

P.T.O.
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(iv)  UTEHAT A HIOAM STl SR T RIearae
(v)  JERRNHA A feeed Suien el s
(i) Tow=N AEAvIHITIR T @Y gRUT HIamaE
(vii) HWEA TEEE 10% W,

Or
(femam)

Write short notes on :
@) Methods of Financial Statement Analysis

@) Current Ratio.

grenq fear famr .
@) foxita oo faveroom=n gl
) =@ S
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